
Calibration Error: Cirrus Band 

 Dominica: 2013May05_Cirrus 

Enhance: [Scroll] Equalization 

The red box indicates a clear example of the calibration error in the cirrus band. 

 



 



  

The values across this “boundary” differ no more than by 10-15 units in the DN values.  

Ex.: 5052 – 5062 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



The “boundary” is also not exaggerated by the conversion to the TOA reflectance values. The 

image below is that of the cirrus band after conversion to reflectance values  

 Dominica: 2013May05_Cirrus_TOA  

 

 

 

 

 



This calibration error is detectable in other scenes: 

 Mississippi: 2013May24_Cirrus 

 


